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PROVISIONAL ANSWER KEY

Paper: 043 - Kerala Service Rules
Date of Test 21-05-2025
Question1:-The maximum DCRG admissible is
@RMABTHI2W aleacaiwl DCRG
A:-14,00,000
14,00,000
B:-20,00,000
20,00,000
C:-7,00,000
7,00,000
D:-17,00,000
17,00,000
Correct Answer:- Option-D
Question2:-Which among the following statement is false?
@IOPaORM JTRIAUMBEITS ag@oeTy omg?
A:-No joining time is allowed if the promotion is in the same office
@620UM 6360 6adMileNemMEIT calmmM@lnes M. @RMAGTIwag)
B:-No preparation time is allowed in the case of requested transfer
@reidadly MNaacElBe0 @0 omwled GQOe0gafees Mawe. @eMAIBTIRG)
C:-Joining time consists of preparation time and actual journey time
GBS M. OQISOFIES MO INIBBD WI@I TVAVQYe DUBOHIBHM
D:-None of the above
HE®W AlOFOMAIOWIMRAL)
Correct Answer:- Option-D
Question3:-Which among the following is a Special leave?
©@069aJOQINAURIGB aB®IET (e @oAIUS?
A:-Paternity leave
oo @oaiwl
B:-Earned leave
@REIWHERIQ @IS
C:-LWA under Appendix XII A
@pmsnirwo XII A qeoegss LWA
D:-Commuted leave
.e,m&gc\.u“ eflar
Correct Answer:- Option-A
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Question4:-While travelling on hill tracts officers are entitled to draw percentage of mileage allowance or DA in Class Il hill tracts.

DRI CRRIRIGEIT WI® £.21QEMIUB PEBPNTVOBES GOMY Il eicwoe canriegld eoncais @raumminecewo DA gesewo

A:-25%
25%
B:-12.5%
12.5%
C:-30%
30%
D:-None of these
aeomoaiey
Correct Answer:- Option-B
Question5:-Minimum qualifying service required for statutory pension
TRIFIRQRSA] HaIMBaUMB @RIV aBQQe HOETIT ERIINKDI GITVAIMe

A:-30
30

B:-20
20

C:-10
10

D:-33
33

Correct Answer:- Option-C
Question6:-Which rule in the KSR states that "leave cannot be claimed as a matter of right"?
KSR dleal ago’ mloancen " @raie:0womi@ec @:005000 @raiwl @oale:ueeqsond el agan ao@mo?
A:-Rule 65 Part | KSR
Qud 65 eovo | KSR
B:-Rule 15 Part | KSR
Qud 15 eowe | KSR
C:-Rule 25 Part | KSR
Qud 25 @owve | KSR
D:-Rule 65 Part Il KSR
Qud 65 =owe Il KSR
Correct Answer:- Option-A
Question7:-Which among the following leave can be granted while under suspension?
MeMYBaUmiod ARRIElEREMIM ®IOPaloQMAIITS g @AW @EMAIEEIND &Flae?
A:-LWA
LWA
B:-Earned
emslo
C:-Casual
HH0aUI®D
D:-None of the above
QBT alOATHAIOQOMoRS)
Correct Answer:- Option-D
Question8:-Part Il KSR came into force on
oo I KSR (josnieyomiled cumay
A:-1.11.56
1.11.56
B:-1.11.59
1.11.59

PODOMo RIEEHIMD @B QENE.
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C:-1.6.56
1.6.56
D:-1.12.56
1.12.56
Correct Answer:- Option-B
Question9:-For the purpose of T.A. calculation officers are classified into
T.A Qos @RAWKETIMIN] HEMEBESE OERPUNTVLAOE HEBOM ®@. @@l aldlesmo
A:-Three grades
QY GWRBUB
B:-Single grades
aloudlUd GWUYBUB
C:-Four grades
moal eWGud
D:-Six grades
@3 CWUBUD
Correct Answer:- Option-C
Question10:-Which among the following statements is false with regard to pension?
£a10BauMa00] NITMWEeIS IOPJORM JTYIAUMBEITS ag@osy smg“?
A:-It is the senior most rule in the KSR
KSR-dleal aggaje gaildm aloansenoy
B:-It is not a matter of right
DO @RAIBIROTIBOO H0YDSY
C:-Pension is paid in advance
alBaHm B0 M@
D:-None of the above
HEI@D AlOOMAIOWITRAL)
Correct Answer:- Option-B
Question11:-The maximum period for which charge allowance can be paid is
210328 @RRIAIBMY MEBSHIQYM ale@UW] B:oe1Eal
A:-Six months
@R MMV
B:-One year
B Qo
C:-Four months
moel @amve
D:-Three months
Qa1 @aMve
Correct Answer:- Option-D
Question12:-The maximum casual leave that can be availed at a stretch is
@539/ 2IElEnIM aleaoIw] Eoauiad eflal
A:-15 days
15 dlaae
B:-20 days
20 dlamoe
C:-10 days
10 dlaaroe
D:-None of these
aeomoaiey
Correct Answer:- Option-A
Question13:-Liberalised Pension Scheme came into fore on
aflenioeeaimiaw’ eamdeuad mfle mlaialed amaoy
A:-1.11.1966
1.11.1966
B:-1.9.1966
1.9.1966
C:-14.11.1966
14.11.1966
D:-1.11.1956
1.11.1956
Correct Answer:- Option-C
Question14:-The maximum number of days that can be availed as joining time is
GaImM TV LIEEIYIM aleaoaiw] FlQITEREeS ageRe

A:-8
8

B:-21
21

C:-7
7

D:-None of these
aeomodiey
Correct Answer:- Option-D
Question15:-The pension ceases to be payable if it remains undrawn for more than
alBaHM OGN 2O &l alldarlenrnm DsSBMIM @@ M@E:M@ MIBCmEIES.
A:-3 years
3 Qidawo
B:-5 years
5 Qidatio
C:-20 years
20 aidasio
D:-6 months
6 moaue
Correct Answer:- Option-A
Question16:-Which among the following recovery can be made from the family pension?
@060 OalBaUTIEB T @OPaloQMAI® g allosrgerond e¥lme?
A:-Co-op society dues
69-60a] OMIOOMVG B:SlElerdr B
B:-Medical insurance
020 WlE®d MBayomBay’
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C:-Public provident fund
alepfles’ ©Joallawmd’ anerE’
D:-None of these
aeomoaie)
Correct Answer:- Option-D
Question17:-In the case of travel by department vehicle the T.A. ceiling limit will be reduced to
Wl oB356RAMA" QIOMOBICE WO 6.21QMN MHIa0.2IRYOOIG3 TA. addi BSOQo
A:-20%
20%
B:-50%
50%
C:-60%
60%
D:-10%
10%
Correct Answer:- Option-B
Question18:-Exgratia pension is granted to an employee who
8@ SHAUMEIOM AW HaliBaUm ML
A:-Had 20 years of service
20 adaeom eruamgerodlaanldleeme
B:-Had died in service
crvaimomlrisel@d adflame
C:-Had less than 10 years of service
10 adauoniod @aee eruamgarolaarldleeme
D:-Was terminated from service
ervamEoled mlam’ aldlgjallsealg
Correct Answer:- Option-C
Question19:-The maximum compensation leave that can be granted in a calendar year is
8@ HLIMRA QAIBUOTI® @RMAIFENIYM alEAIAIW] Maynl@lande @AW
A:-15 days
15 dlaaoe
B:-20 days
20 dlame
C:-30 days
30 Ao
D:-6 months
6 moave
Correct Answer:- Option-A
Question20:-The rate of charge allowance for holding full additional charge is
@R @RWIS 21088 HOBAW. AURMTIMPES 2l0de @RaIBMY Mledes’
A:-4% of the maximum of scale of pay
alea00iuw] vemig eayaldeo 4%
B:-4% of the minimum of scale of pay
4% aggaje @060 WIS ETYIE
C:-4% of the gross salary
02000 MIsOBIBe0 4%
D:-None of these
aeomoaiey
Correct Answer:- Option-B
Question21:-For applying for voluntary retirement an employee should have
auieawd Afledlenalny’ @pealstleasmailn e sflaumeiem psmrowildlensm.
A:-20 years of qualifying service
20 QIRHEE™ CRIN®O ETVQIM.
B:-10 years of qualifying service
10 BaueE® I ETVAIM.
C:-30 years of qualifying service
30 QIRHEE™ CWIN®O ETVAIM.
D:-None of these
aeomoaiey
Correct Answer:- Option-A
Question22:-A qualifying service of 29 years 4 months and 8 days will be rounded of to
29 aidauqpe 4 a0avl 8 dlaITuale B8 CWIN®I EITVAIM. agMBIERIES OVENE O 2IQOalSe
A:-29 years
29 aidaso
B:-30 years
30 aidasio
C:-31 years
31 aidaso
D:-29°(1)/(2)" years
29 (1)/(2)" cidaso
Correct Answer:- Option-B
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Question23:-The total number of special casual leave eligible for attending international level championship is

@RDIGIY @l 20MIMBaflofldd alBFEIM EPRNOQYSS (JEOKD GHIMUIT ERAIWIROS GREOE: afR

A:-15 days
15 dlamoe
B:-45 days
45 dlauaos
C:-10 days
10 dlaioe
D:-90 days
90 dlarve
Correct Answer:- Option-D
Question24:-LTC is applicable to employees who had completed years of service.
ojdonilooslo elamenidas LTC sowenosn eroaim aidaussud
A:-20
20
B:-15
15
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Correct Answer:- Option-B
Question25:-The maximum provisional pension payable
MBBEBM ale0IUW] MOl HalBaHmd
A:-No ceiling proposed
alclwl aildegudlafisley
B:-75% of Average emoluments
(eEIWE! LmigeImeo 75%
C:-75% of total salary
er0Ome tamIgEDmen 75%
D:-None of these
ae@omodiey
Correct Answer:- Option-A
Question26:-The maximum period an employee is allowed to continue an deputation in a stretch
8@ FamEIeM @SA.4@o] 6)(LUnJ§G§nSMOﬂ ®SEIM @RMAGEIEBRMM aleadiW] G:oelwaql
A:-10 years
10 oo
B:-2 years
2 aidasto
C:-4 years
4 Qideasio
D:-5 years
5 Qi@ato
Correct Answer:- Option-D
Question27:-The maximum leave not due that can be availed in the entire service is
QgaIm ervaIM@BIE) IElEIQM aleaoaiuw] @RAIWIIET
A:-360 days
360 dlauros
B:-45 days
45 dlaave
C:-120 days
120 dlarve
D:-240 days
240 &laiave
Correct Answer:- Option-A
Question28:-The legal heirs eligible for family pension is mentioned in
G0N HlMBaHT @RAOOWESS WRAIERIW @RAIG:IUBE:ED @ alEoadudl4fldlesme.
A:-Rule 3 Part Il KSR
Qud 3 o Il KSR
B:-Rule 90 (6) Part Il KSR
Qud 90 (6) eowo Il KSR
C:-Rule 140 Part Il KSR
Qud 140 eowe Il KSR
D:-Rule 180 Part Il KSR
Qud 180 eoww Il KSR
Correct Answer:- Option-B
Question29:-If free boarding and lodging provided then the D.A. admissible will be
DMy esnBlee @IATVGY M@BHIWIgHEMEEITS @AM DA eroldles.
A:-"(1)/(2)° DA
“(1)/(2)° DA
B:-Full DA
oJ@ep DA
C:-*(1)/(4)" DA
*(1)/(4)° DA
D:-None of these
aeomoaiey
Correct Answer:- Option-C
Question30:-Which of the following statement is false with regard to maternity leave?
@MQAIW] MENITNWl4] @IOLIOQID JTYIUMSEDD gy 6mg?
A:-It is granted to female employees for 180 days
amloo elameodas oo 180 damueomes @rmeaidaldlesae
B:-It is counted as duty for probation
DO 6JOGENIHM (\»égﬁcmamﬂ SHEMEOEBAD
C:-No earned leave will be credited during this period
09 $0010s0l 8@ MGy ERAIWIQ. e@WIY ealglley
D:-None of these
aeomodiey
Correct Answer:- Option-D
Question31:-Higher rate of family pension is calculated as
@500 HIBAUMBOHO OQABM MRE BEMEIERMNT EBBHMET
A:-50% of last basic pay
@paITLIMm @eslrunom emigomlmdeo 50%
B:-50% of last salary
@pImIm vemigomlmeo 50%
C:-50% of last salary drawn
@RAITLIM. AERID vemigomimeo 50%
D:-50% of Average emoluments
(eEwEl Lmigemlmeo 50%
Correct Answer:- Option-A
Question32:-In the case of enforced halt is eligible in the first day of halt.
RN aledlQes @oey00d emoefl ldomle @Ey e e @RANQENE.
A:-No DA
DA gy
B:-Half DA
alaol DA
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C:-Full DA
oj@epp DA
D:-*(1)/(4)" DA
“(1)/(4)" DA
Correct Answer:- Option-A

http://192.168.1.6/dept/modules/marklist/answe...

Question33:-The maximum number of casual leave eligible for blood donation in a calendar year is
6@ HLIMRA ABUOTIE ESMEIMEBITY ERAO2IW alE@INW] B0 @RAIWIRSS ageRe

A:-10 days
10 dlaroe
B:-4 days
4 dlcuarve
C:-15 days
15 dlairoe
D:-None of these
ae@omodiey
Correct Answer:- Option-B

Question34:-The HRA and CCA during the transit period is at the rate of

so@ailg’ @oeiwsaled HRA qo CCA @ agn dlessiensmy
A:-New Station
Ol eqyaum
B:-HRA new station and CCA old station
HRA ojol@ eqyaumoe CCA ale® eqyasimoo
C:-Old station
l®© GTRaHMo
D:-None of these
aeomoaie)
Correct Answer:- Option-C
Question35:-Third time bound higher grade is granted on
QM MAITMQoe LA W @RMAIGEBM®Y
A:-Completion of 15 years of service
15 adaueom ervaime ojdoolwoms@d
B:-Completion of 22 years of service on the entry post
B! @MlBQIE3 22 AIBUOO™ ETVAIM. oJBODI@OEB D

C:-Completion of 22 years of service on the promoted post

22 QIBae®® GIVQIM. ojBEBIIEH® MUNIMEd Qe aiElsl @mfle:alear crvaim aid B

D:-Completion of 27 years of service on the promoted post

MUNOME@Qo 215 OIS 27 QIBHOOD EIUAIM. oJ@OBIOE®
Correct Answer:- Option-B

Question36:-Which among the following service will count as qualifying service for pension?
©06PJOQINAURIGB aB®Y BILAIMAEN HalBaUMB EOWKMO BIVAIMDILS BEMEOERE:?

A:-Boy service
mm:e;g%;gsus @IVLQIMo
B:-LWA otherwise than on Medical certificate
ealleo@d mudgladerdld asleswes LWA
C:-Apprentice period service
@Bl afldlay’ crudallony’
D:-Maternity leave period
@manaid soeeal
Correct Answer:- Option-D
Question37:-KSR is governed by
KSR mloglesmao
A:-Kerala public service act passed in 1968
1968-@3 a0 eseg alpler mudallmy’ @rg’
B:-Kerala Co-operative Act 1969
CHES MVaDBHEEM M. 1969
C:-Kerala Local Fund Audit Act 1994
CHOES GRIBE a0 Mla. 1994
D:-Kerala Panchayat Raj Act 1994
CHES Al e Mloa. 1994
Correct Answer:- Option-A
Question38:-LWA under Appendix XII A (Part | KSR) deals with
@rmeniamws XIl A (oo | KSR) weoeges LWA eedd0ew ©aigmo
A:-LWA for study purpose
alom @raeyoslrss LWA
B:-LWA for joining spouse
aBoglQeod cammaimoss LWA
C:-LWA for better employment abroad or in India
alleauecomo snamy@lean dle.q) ecmoelasss LWA
D:-None of these
aeomodiey
Correct Answer:- Option-C
Question39:-Employees entered into service on or after
CILAIMOBIE3 (@JeIUBly HlMEIB @RMIMEUR. GPRORIEHI @PGIM CUoU
A:-1.7.2013
1.7.2013
B:-1.4.2014
1.4.2014
C:-1.7.2014
1.7.2014
D:-None of these
aeomodie)
Correct Answer:- Option-D

are eligible for contributory pension.
Gal@es c@;asﬂ%@smégrﬂ OalMBaHM @OBOMQYEIE.

Question40:-An employee having a service of 29 years and 5 days is rounded of to 30 years. This rounding is an example of
29 adaap 5 damuge mdalmss e dlameoeem 30 adaeR] 0D HalgimM. gD OVEMELUY BT PBEIDEEMAIET

A:-Special rounding
OTYU@ EDETElUY
B:-Ordinary rounding

TLIWOEEM EVENElUY
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C:-Full person rounding
aQu Galgend EDENEloUY
D:-Minimum rounding
dlrilae eDeMEluy
Correct Answer:- Option-A
Question41:-Incidental expense for a journey should be
6O WIORES EOBMYE 62010 mIRIElereme
A:-Minimum full D.A.
@060 oJdepy D.A.
B:-Minimum *(1)/(2)" D.A.
sosooo  (1)/(2)° D.A.
C:-Minimum 1000 rupees
aosomo 1000 @al
D:-No minimum prescribed
B0600® Mldegudlasley
Correct Answer:- Option-B
Question42:-LWA under Appendix XII C Part | KSR deals with
@naesnirwo XII C oo | @jeoeges LWA KSR eoseitw eagm
A:-LWA for study purpose
alom @raweyetilress LWA
B:-LWA for better employment
Al omodleiross LWA
C:-LWA for joining the spouse
wem@aoe] cammolrgs LWA
D:-None of the above
HEI@D AlOOMAIOWITRAL)
Correct Answer:- Option-C

Question43:-The present incidental expense for a grade | officer is

YW | 80adlmuges geapeeam @ryemyle earial
A:-.80 paise/km
.80 eoaimv/@).dl
B:-.90 paise/km
.90 eeaimv/s).dl
C:-.50 paise/km
.50 eoaimv/@).dl
D:-100 paise/km
100 eaimv/@).dl
Correct Answer:- Option-B

Question44:-The maximum service stipulated for granting DCRG

DCRG ermadiesmaia) clumialalges aeaoadl eroaims
A:-33 years
33 aidao
B:-30 years
30 aidaso
C:-5 years
5 Qi@
D:-10 years
10 cBao
Correct Answer:- Option-A
Question45:-The present rate of pension commutation is
OalBaud &mﬁcgwn&en mlenieear mleses
A:-20%
20%
B:-35%
35%
C:-50%
50%
D:-None of these
aeomoaiey
Correct Answer:- Option-D

Question46:-Special disability leave is sanctioned for a maximum period of
alEadQIu] Soeisaleals) @emid 6§6®:Rly @AW @R ]dlesmo.

A:-12 months
12 aoave
B:-6 months
6 moaue
C:-20 months
20 oo
D:-None of these
aeomodiey
Correct Answer:- Option-D

http://192.168.1.6/dept/modules/marklist/answe...

Question47:- pension is the pension granted to an employee who retire at a certain age after completion of the service.
GVAIMo JBOTIIEHI® U B@ Mlunim PWEBI alledlesm 8@ lamEnoEM MWEM BalBaUmos’ OalBayd.

A:-Voluntary pension
LICRW®D B l(BaUm

B:-Superannuation pension
TRBEYMEUHB Bt

C:-Compensation pension
Mayal@lande SaliBaud

D:-None of these
aeomodie)

Correct Answer:- Option-B

Question48:-If an officer travels in a department vehicle and returned to headquarters within 24 hours then the total incidental expenses plus DA for

half is

8® 963NMAM 8@ Wlnjod5eamd aeomEBied WIE eag 24 aeigadlrossiad @RIN0MEnmEs ASEEIITE, HRTMo @RS RVTOV - g DA o @5 caideso

A:-Limited to maximum one D.A.
aleacaw] 8@ D.A ool cadess
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B:-Limited to two D.A.
o6ng D.A @l aidldlmengoniolcesmm
C:-No limit prescribed
aldlwl ailunidlafigles
D:-None of the above
gl alosTmAIO@IMRa
Correct Answer:- Option-A

Question49:-For availing commuted leave the employee should have completed years of service.
@y ellol aidlesmaial elaimenoead QBUOOD BITVAIM. ajBoT@oEsI0ElEnsmo.
A:-2
2
B:-3
3
C:-5
5
D:-6
6

Correct Answer:- Option-B
Question50:-The maximum number of earned leave that can be surrendered in a financial year is limited to

BT MLOMIOBIE AUBHODI@ MVOMTEAB .21 BFIQM alEAAUW] @RHEI® @AW @R aldldlmensooioicesamn.
A:-20
20
B:-35
35
C:-30
30
D:-10
10
Correct Answer:- Option-C
Question51:- is always paid in advance.
ag)Gajoge FMBE000 M@0,
A:-Pension
OalmBaHd
B:-DCRG
DCRG
C:-Salary
MG
D:-None of these
saeieanmodiey

Correct Answer:- Option-A
Question52:-Child adoption leave is granted for
.esghaags)s BOODIED @RI Qe @Gl @Elesmo
A:-120 days
120 dlarve
B:-365 days
365 dlauaus
C:-60 days
60 dlame
D:-180 days
180 dlairvo
Correct Answer:- Option-D
Question53:-The present D.A. applicable for a Class IV officer (inside Kerala)
dleialees D.A. eaes0mlmeom goay [V asadimudes snoweo
A:-300
300
B:-450
450
C:-350
350
D:-200
200
Correct Answer:- Option-C
Question54:-The total number of leave admissible towards leave for miscarriage is
nAE. @ReIMElnes @oAIwlEs @RIV @RYEE: mmuﬂ:ﬁ,g@s ag)erRo
A:-42
42
B:-60
60
C:-200
200
D:-180
180
Correct Answer:- Option-A
Question55:-Which among the following statement is true with regard to Dies non?
O BMOSMB TNl 4] @IOLIOQIMA (JIRIAUMBEI @@ (odI?
A:-It is counted for salary
WIUSODIMOQ] DB HEMENILBMO
B:-It is counted for earned leave
@RADEI® @PAIUWIEHIW] DM BEMEHIEBMD
C:-It is counted for increment
DMB&leamdclmow) @ &:emEnoEsm
D:-None of these
aeomoaie)
Correct Answer:- Option-C
Question56:-The maximum stagnation increment allowable
@RMAIBMIRAID alE@IAIW! MRIGUNUM BGleamd
A:-Two
©6TE
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B:-Four

C:-Six
@R
D:-Five
@6l
Correct Answer:- Option-D
Question57:-Admissible DCRG in the case of sanctioning anticipatory pension
QB&A EaiBam @GR BBl @emarmiwacw DCRG
A:-50%
50%
B:-75%
75%
C:-90%
90%
D:-None of these
aeomoaiey
Correct Answer:- Option-B
Question58:-Which among the following is a compulsory deduction from subsistence allowance?
oagdlaim @peiimmilad dlaegs mldenruwlo SIslal ag@osm?
A:-Group insurance subscription
Qo] e@Bagommy’ quenimylaTauad
B:-SLI subscription
SLI cvenicylaiossd
C:-LIC premium
LIC @Jdloo
D:-None of the above
aeomoaiey
Correct Answer:- Option-A
Question59:-In case an officer avail leave while on foreign service the leave salary is to be paid by the
afleswe cmudalmilenoil@lesemoud 8m 9eRNMVAM BRAIW! afSERHWINEMEIT, @OAIUW! LMIBe MEBEEMED
A:-Government
auBeod
B:-Foreign employer
afleswd emodlaisa
C:-No salary
wmigaley
D:-None of these
aeomoaie)
Correct Answer:- Option-B
Question60:-If an employee halted outside the head quarters for 10 hours then the maximum D.A. admissible is
8@ HlamEem eao @&desElM ajoom 10 asmilged aldoniwocd @rmeasmiwaw aeasawl D.A.

A:-*(1)/(2)" DA
“(1)/(2)° DA

B:-Full DA
oJ@ep DA

C:-*(3)/(4)" DA
*(3)/(4)" DA

D:-No DA
DA engy

Correct Answer:- Option-A
Question61:-Daily allowance is calculated on the basis of
£6BMEIM @RRIAIMBMY B:EMERIEBAND®
A:-Master Scale
208 emyeicd
B:-Minimum of the scale
om@ilellBen aggaje GO
C:-Actual basic pay
@LNIB@O @RSINOIM VBMISe
D:-Maximum of the scale
eayialdec aeaoaiul
Correct Answer:- Option-C
Question62:-D.A. admissible for a grade Il b officer outside Kerala is
eHE8TION ojogoas e |l b aoadmudss’ @rmasmionw D.A.
A:-500 Rupees
500 @
B:-700 Rupees
700 @
C:-600 Rupees
600 @
D:-None of these
aeomoaie)
Correct Answer:- Option-D
Question63:-Which among the following leave can be prefixed with vacation?
©@069aJ0QINARIEE a@@oeN @oAIWlERl @RAIWE YT Ealderom ddlQe?
A:-Appendix XII A
@msnirwo XII A
B:-Appendix XII B
@rmenimw. XII B
C:-Appendix XII C
@nmsnirwo XII C
D:-None of these
aeomoaie)
Correct Answer:- Option-D
Question64:-Presently what is the maximum pension allowable to a part time contingent employee?
Mlainl® 8@ a0ds 6eSe GHEEIRME HlamEIem EPMABHIAID alEAIAIW HAIMBUM af@@oem?
A:-11485
11485
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B:-12000
12000
C:-36000
36000
D:-None of these
aeomoaie)
Correct Answer:- Option-A
Question65:-Which among the following will not count for probation?
@9POQRMAUIDIM G 6a)oGENIaUMITS BEMNENILICOD !
A:-Casual leave
&0aI@d eflal
B:-Training period
al@ludlaimn soeisal
C:-Vacation period
@oAIWlEnIR!l H0el8al
D:-None of the above
QBHEIW AlOFTDAOWIMRRGY
Correct Answer:- Option-D
Question66:-The maximum earned leave that can be credited into leave account is
allal @rervmelealss O@UIG 6.a1Q0m SFIQM aleadaiWl MuMIdEly @AW
A:-20
20
B:-300
300
C:-120
120
D:-180
180
Correct Answer:- Option-B
Question67:-Which among the following is true with regard to charge allowance?
21008 @RAINIBIY MVesNITW 4] @I6Paj0QMAIRI® @@ (odI?
A:-D.A. is not admissible with charge allowance
D.A. 203 @relnidemoes @pmasmiwag)
B:-It is not treated as a part of basic pay
O @RSINOIM MIBOTIMOO EINAIS BEMEBIHIRY
C:-At a time it can be paid for a maximum period of three months
B MLAQOT alEAQIW! YA’ AOTVEOMES) DM M@0
D:-All the above
ABHEI alOFDAUOWEII0
Correct Answer:- Option-D
Question68:-An employee working in a higher post got appointment to a lower post. How can we fix the pay?
@AM oMleicd e=oel £.21QM &G glam®oem @og emilecicd mloame EI@'MH. PMIBo af)EEREOM MURUQIERI?
A:-Minimum pay in the lower post
@9 OMIBIRI aBQQJe H0ETT BMISe
B:-Same pay that he was receiving in the higher post
2@AM OMHQI3 @oWIE aIElslam @oe® migs
C:-Next higher scale
@prgom @AM empeicd
D:-Same pay with one increment extra
6@ MB@leamdlamaaj @rE® wMIgs
Correct Answer:- Option-A
Question69:-The maximum occasion an officer eligible for T.A. for attending obligatory department test is
8@ geapuMam T.A. & ErB0OWES 1200wl @RAIME.. MldenINU® Wlapdseamd aldleulcd aemgemmdinas Tawe
A:-Five times
@6l @AM

B:-No limit
aldlwloilgy
C:-Only once

BAlETD 2I@o
D:-None of these
aeomoaie)
Correct Answer:- Option-C
Question70:-As a part of his official duty an officer in Revenue department had to stay in the nearby district which is 45 kms away from his office.
How can you calculate the admissible D.A,, if he had stayed there for 19 days?
0QImy Aldeflorl B PEaPMMLAM GMeO BVesPUlle: B-domamiien VAl ®Meo soadmilad mlam’ 45 sleandlgd eneeciqes cosomes Hloic moamilesend aime. 19
Alaume @ralles @ommﬂ.ﬂﬂ%mfmaﬂmﬁ, @pmABTlacw D.A. ag@mem @emenoado?
A:-Full D.A. for 19 days
19 dlareomes ojdey D.A.
B:-*(3)/(4)" " ~t~h" D.A. for 19 days
“(3)/(4)""~t7™hT 19 damveomes D.A.
C:-Full D.A. for 15 days and "(1)/(2)" D.A. for 4 days
15 dlameomes ojdep D.A. quaw., 4 darveomas " (1)/(2)° D.A.
D:-None of these
aeomoaiey
Correct Answer:- Option-D
Question71:-KSR is applicable to
KSR sniowse
A:-Contingent employees
S6endlmmo’ sflamenod
B:-.LA.S. and |.P.S. Officers
ILA.S., I.P.S. &oadlavdaod
C:-Contract employees
#0038 =lamendd
D:-None of these
aeomoaiey
Correct Answer:- Option-D
Question72:-Every late attendance for 3 days without permission leads to forfeiture of a casual leave. Which rule states this?
@RMA0GAIRPE® 3 AAIMETE OOIS!] A0IBEIL:NMT BIEBI MAMWQo d:IMUIMD AlAT MaYeASEDANINY :IEMAIL:MD. oB® MlAGDI O AlOQN@?
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A:-Rule 22 Part | KSR
Qud 22 =owve | KSR
B:-Rule 14, Note 1 Part | KSR
Qud 14, emog' 1 eov. | KSR
C:-Rule 22, Note 1 Part Il KSR
Qud 22, amog’ 1 @owe Il KSR
D:-Rule 22 Part Ill KSR
Qud 22 o Il KSR
Correct Answer:- Option-B
Question73:-As per KSR audit officer means
KSR a0y @vadlud agonaimdec @edmos
A:-Audit Officer of State Audit Department
MoMu0dM Bl ldafldeo soculy’ eoadimud
B:-Audit Officer of Performance Audit
6al@eandammy’ gouldldeo souwly’ Boadiamud
C:-Audit Officer of Co-operative Audit
Man&eeM Boldldeo aouwly’ eoadimud
D:-None of these
ae@omodiey
Correct Answer:- Option-D
Question74:-The formula for calculating DCRG is
DCRG @:6m@®ossmnaimgs canodgel omoem
A:-(Last month basic pay+D.A.)/(2)x (qualifying service)
(@leom moaLeED @oSIMLAdMm Mg+ wl.ag).)/(2) X (cwonymo emuaims)
B:-(Last month pay)/(2)x(qualifying service)
(@lem a0muecD emige)/(2) X (ewownymd emuaim.)
C:-(Average emoluments)/(2) x (qualifying service)
(eeove tamugo)/(2) X (e@owymo emruaimo)
D:-(Average emoluments) x (qualifying service)
(EIE mIg.) X (LW GrUAIM.)
Correct Answer:- Option-A
Question75:-As per KSR the class of journey eligible for grade Il b employees in train
KSR @rmaudlsl eseldleer epaw || b elamendes apdannom @o@o gomy
A:-2nd class
@6M200 %O(‘f\i’
B:-2nd A.C.
@6MR00 )Vl
C:-3rd A.C., if the train does not have 3rd A.C. he can avail first class
QMo af)M] HSDIMITB Gae afTV] 6B EPWIBES A0 GOMY aIElERe
D:-None of these
aeomoaiey
Correct Answer:- Option-C
Question76:-Minimum incidental expense allowable is
@RMAIBMIAID aBQQJo HOTT BRBMYE: &aliaf

A:-One D.A.
a@m D.A.

B:-*(1)/(2)" D.A.
“(1)/(2)° D.A.

C:-500 Rupees
500 @«

D:-No minimum limit
&0600 aldlulolley
Correct Answer:- Option-B
Question77:-In which among the following cases Sunday's cannot be excluded in the calculation of joining time?
DIOPJOQID CHMYHHI BOTIOE FNOWOILHSIEN GalGBAN VAo GHEMEIEBIM@I@B WM B¥laEmB &IAwoom®?
A:-In case where transfer is outside Kerala and availing a joining time of 30 days
SOMMYAB EBESOBIM ajoamonsmeslad 30 daimecm e@o@lmlu) Muawe LIEEBM MV 2O
B:-In case of availing 2 days journey time
2 Flameocm @@ Mua@e AIEIERAN V0 aIEKOBIG
C:-In case of transfer is inside Kerala and availing 30 days joining time
SOMMYAB EBHESOBIM @Re:emIesMEslad 30 dameos @Myl Muaw. LIEEBRM M9 BTG
D:-None of the above
QABHEIW AlOFDAUOWIMOREY
Correct Answer:- Option-A
Question78:-Which among the Statement is false with regard to family pension?
©:506N HIMBAUOM MVENIMUL] (IRIANBEI BT ODG?
A:-An employee can receive family pension along with salary from government
8@ ame0em MABENIGI® MlaT LMISEOmINSIale B:FosN! HalBayme RIElER
B:-No recovery can be made
Alepad] msomam eloiley
C:-Higher rate is 50%
o@adm dles 50%
D:-None of the above
AHEI alOFDAUOWITPREY
Correct Answer:- Option-D
Question79:-Subsistence allowance is equal to
oallaim @RaICIBMY @ealmos
A:-One month salary
63@3 @OV DMIBo
B:-30 days salary
30 dlamvecm wmige
C:-Half pay leave salary
al®o Mg @AW LMIS.
D:-Fixed as Rs.10,000
10,000 @awon dlunaisfclasao
Correct Answer:- Option-C
Question80:-LWA under Appendix XIlI A is sanctioned for a maximum period of
@pmsnirwo XII A @aoegss LWA aeacadl soeiwsaleais @omadfdlasan
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A:-5 years
5 aiBauo
B:-20 years
20 aidasio
C:-10 years
10 cBaso
D:-7 years
7 Qdaxo
Correct Answer:- Option-A
Question81:-The minimum qualifying service required for statutory pension is
rrpgs%g(ﬂ 6aIMBeUM @YQURYIW aBQQYo SHOETID ERWINY®I ETVAIM.
A:-20 years
20 aidasio
B:-10 years
10 oo
C:-5 years
5 Qi@
D:-None of these
ae@omodiey
Correct Answer:- Option-B
Question82:-Leave not due is debited in the
a@paiw] eIl ol ey 6.agldlam
A:-Earned leave account
@RAmEl® @RI @REHDETE
B:-Casual leave account
B0ai@d eflal @peneE
C:-Half pay leave account
Ao M8 @AW @REHVENE
D:-None of these
aeomoaie)
Correct Answer:- Option-C
Question83:-The minimum service required for DCRG is
DCRG & @oaiuoi20@ oggje @060 EIVQIMe
A:-5 years
5 Qi@axo
B:-10 years
10 cBaso
C:-20 years
20 aidasio
D:-33 years
33 aidaso
Correct Answer:- Option-A
Question84:-An LDC working in the Revenue department did not pass the department test. On completion of 8 years of Service from the entry post
he had applied for the first TBHG. The superior officer rejected the application stating that he had not pass the department test. Comment on this
oQImy Qldoflcd emoel eaigyan 6w LDC aulojodseamdd esqy alomuowlg). agads] eaoqyled dmlan 8 aidaeom mudalmy odomlwosslwenpoud @pegan. @rewom TBHG e
@Realel I, Wlajodsenmd esqy alomoailegm’ aloemm Ma]dlwad soadlrud @oeaiss dlemily. oallomesdlal @oElejoWe aldse:.
A:-The Superior's stand is legal
Malldleges mlalalos dloaaieadsm’
B:-The Superior's stand is illegal
malldleges mlalans mloaclaevadem
C:-First TBHG can be granted on completion of 9 years
9 QIBate aydowilodemud @rey TBHG @omaidende
D:-None of these
aeomoaiey
Correct Answer:- Option-B
Question85:-An Officer working in Trivandrum for 5 years had been transferred to Kollam on request. In Connection with this which among the
following statement is true?
OBUNMJEOD 5 QIdauaowl emoal £.21QN GG DEBPNTVOOM Boudly) @000 6B
A:-Preparation time cannot be allowed but can allow journey time
@QIOOFa] Mae GRMAIGENIN G¥lollg), altdH IO MBW. ERMAIGENI
B:-Preparation time and journey time can be allowed
@QISOFa] MVAWQY WI@I MDA @RMAUGIEI
C:-T.A. and preparation time can be allowed
T.A. Qo ®Q060ga] MO @RMAIGEN0
D:-None of these
DAIOHQIMe @RMAUGE0
Correct Answer:- Option-A
Question86:-An employee having 26 years of qualifying service is sanctioned voluntary retirement. The maximum service weightage applicable in
this case is
26 Qidaeom IO BNAIMYSS B elaME@RM Meaw®o aledlead @omAdlEs.. DD EBIR MIWEHAIR aleadaiwl mudallmy saiwegss
A:-3 years
3 QB
B:-5 years
5 Qi@axto
C:-10 years
10 oo
D:-4 years
4 Qdasio
Correct Answer:- Option-D
Question87:-Calculate the qualifying service for superannuation pension from the following information:
I. Total service 32 years
Il. LWA otherwise than on medical certificate 1 year
IIl. Suspension period regularised as duty one year

=T ¥ 20dl. @200 MIMLELS @IOPIORYM (JTRIUMBE aB@IET w@?

@690 allaieEREI® @AM MYa|BERMEAINUM HaIMBAUMSS GOV EITVAIMo GEMEDILRE:.
l.  @ree qudaloy 32 aidae

Il eaclen@d avudgladlenglod @ogpem LWA 1 aidauo

. crveaymdaum @oeeal 8@ aidats WSlwowl ©0PeIPOOMS ealge:

11 of 13 Wednesday 21 May 2025 04:41 PM



Home Page http://192.168.1.6/dept/modules/marklist/answe...

A:-31 years
31 aidaso
B:-30 years
30 aidasio
C:-32 years
32 aidaso
D:-33 years
33 aidao
Correct Answer:- Option-B
Question88:-Which among the following statement is false with regard to stagnation increment?
TYIEUNUM DM BIOAMQRRIV] IMLOS IHPAORYM (TRIAUMBEIT BT armg’?
A:-It is reckoned for all service benefits
ag)gjo BILAIM @RYMELIEERUTER0 DD HEMENILBTO
B:-At present there are five stagnation increments
mleiallcd @l quocunaum md@leamasud oo
C:-The first two are annual and the next three are biennial
@B EOMEERe AUBE:0) @RFOD GommeaR. claicrueayaosm’
D:-It is granted when the pay reaches the maximum of scale of pay
Mo aleadU] temig eayeieflcd apememidoud o @emAGlER.
Correct Answer:- Option-C
Question89:-The maximum special casual leave admissible for attending international championships is
@ODIIY mocmméniﬂqdda;g'lmﬁ AOBSEMBIM @RMABTIRAIY aleadIWl (JEmiE &Iaued aflal
A:-45 days
45 dlauros
B:-30 days
30 dlaumoe
C:-60 days
60 dlarve
D:-None of these
aeomoaie)
Correct Answer:- Option-D
Question90:-The maximum number of Earned leave the controlling officer can sanction for those employees who wish to leave the country for
private affairs
MUIBIEY BIEYERUBEHIDS IR Qllsom ERYWCIERMM HAMENIBLS BMBESISY Boadlmy @rMAIEIERM alEacNIW] EREI® ERAIWIRSS afeRe
A:-90 days
90 dlaurve
B:-60 days
60 dlame
C:-120 days
120 dlarve
D:-15 days
15 dlaimoe
Correct Answer:- Option-C
Question91:-For drawing PTA (Permanent Travelling Allowance) an employee need to travel kms in a month.
PTA (audle @@ @paiaicdmy) aidesmailay s slaimenie 8e asruomlcd #leandlod quemidleanane@ens.
A:-18 kms
18 #leandlgd
B:-60 kms
60 @leaiodod
C:-300 kms
300 &leandlgd
D:-None of these
@m@m}omamgd
Correct Answer:- Option-D
Question92:-From the following information calculate the pension admissible:
I. Total Service 31 years
Il. Non qualifying service 3 years
Ill. Average emoluments 72,000
IV. D.A. 4,000

©969ajoQm alaeargldd @I’ ERMAIBMIAID HaIBAUM HEMEDIEHE::
l. @ree mudalmy 31 aidao
Il covniomaigpom mudalay 3 aidas
lll. LeIE wmig. 72,000
IV. D.A. 4,000
A:-Rs.33,600
33,600 @a!
B:-Rs.37,200
37,200 @
C:-Rs.67,200
67,200 @a!
D:-Rs.63,600
63,600 @
Correct Answer:- Option-A
Question93:-From the following information calculate family pension at higher rate:
. Lastpay 1,21,500
Il. Average emoluments 1,18,500
IIl. Qualifying Service 30 years

@690 allaiergl@ @lam @AM MR B:gosn! HalBayB BHEMEIERSH:
. @eairvom wemug. 1,21,500
Il.  werow@ wmg. 1,18,500
I, ewounymd ervaime 30 Qidao
A:-59,250
59,250
B:-60,750
60,750
C:-36,450
36,450
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D:-40,750
40,750
Correct Answer:- Option-B
Question94:-An LDC joined in the Registration department on July 4 2023. The Superior Officer granted him 20 casual leave for that particular year.
Comment on this.
2023 mooa 4 o eeflerpaum el am LDC emoallalcd weaidly. myoldwd aoadmd @eegeoomim @r aemys adaeome’ 20 eomuc allal @emaldly. eollomesdlal
@REIJOo alOWo.
A:-The act of the Superior is valid
Mall@leQes @QEm avouyaerm
B:-The act of the Superior is wrong
Malleleges ool emgosy
C:-The maximum leave admissible is 10
@AM aleaoaiw] @oaiw] 10
D:-Ten earned leave shall be deducted in the subsequent year
@smares adauosilcd ama mumiodla) @RAIW] &0Qo
Correct Answer:- Option-A
Question95:-Which among the following is not a compensatory allowance?
®269a]0QIMAIRIEB BN Maal@lanoe @RAICINBMY @REIOOm@®?
A:-City Compensatory Allowance
MO MeYalBlandE GRAIIMBMY
B:-Travelling Allowance
WI@I @RRIAIMBMY
C:-Washing Allowance
Qaloty @RRIAIMMY
D:-All are compensatory allowances
ag)gfo0 Magnl@la0d® @RRINIBMYGS6M’
Correct Answer:- Option-D
Question96:-How many days special casual leave can be granted for attending national level championship?
e3Wl ®@al almiBalla]od aleEgEmMIN af@ Faie @IEiE @I allal @rMAIEE.?
A:-10 days
10 dlaioe
B:-7 days
7 Ao
C:-14 days
14 dlairve
D:-None of these
ae@omodiey
Correct Answer:- Option-D
Question97:-In case of temporary transfer (only for two months) the officer is eligible for
®@o@&noelle: MNLagEBBe0 @:0eyood (©6ME MILETmE 0@.) DEBPVIVAN BRBAOWQSNE.
A:-No T.A. admissible
T.A. @emaraiw. mgy
B:-Transfer T.A. with no D.A.
D.A. ogpom T.A. SomBayd eagse
C:-Tour T.A. including D.A. for half in the new station
Ol eqReumIod aleolewog. D.A. pudeaes gd T.A.
D:-None of the above
HE@D Al0OMAIOWITBAL)
Correct Answer:- Option-C
Question98:-Which part of KSR deals with Travelling allowances?
KSR-a360 ag® @00aosm @o@o @relaiBmydud 66@E @000 mmq@cm@"?
A:-KSR Volume | Part Il
KSR aneig | @ove 11
B:-KSR Volume Il Part |
KSR aneip I @ovo |
C:-KSR Volume | Part |
KSR aneig | @ove |
D:-None of these
aeomoaie)
Correct Answer:- Option-A
Question99:-The minimum family pension payable as per latest revision is
ABQQYo AJTN al@lay@EMo (@00 MTBCHENE ABQQYo HOETD EHFosN HalBariad
A:-10,000
10,000
B:-11,500
11,500
C:-12,000
12,000
D:-9,000
9,000
Correct Answer:- Option-B
Question100:-Which among the following fixation assures a minimum of two increments?
@OPORQRMAIDIB oF@E SO @6 MBEIOAMBQHUY go(ﬂamm@‘?
A:-Rule 30 Part | KSR
Qud 30 ands | KSR
B:-Rule 37 b Part | KSR
Qud 37 b anadg | KSR
C:-Rule 28 A Part | KSR
Qud 28 A s | KSR
D:-Rule 26 Part | KSR
Qud 26 ands | KSR
Correct Answer:- Option-C
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